2023. 2= E Q|| 0{CH <]
StAMX| = S 2F7 o] X1 2 o 2~

=S Zl o pddl] Lo

=M =S swhl;



https://arduino.datahub.pe.kr/2023
https://arduino.datahub.pe.kr/sw
https://arduino.datahub.pe.kr/2023/src

¢« > Cc 0

Directory Listing x +

https://arduino.datahub.pe.kr/2023/src

HEuY UMD WE H
Directory Listing

/2023/src/

% 1. Button/

% 2. Mutitasking/
% 3. Buzzer/

% 4. FND/

% 5. Solution/

% software/

% JIE=Al/

11-Jul-2023
13-Jul-2023
11-Jul-2023
13-Jul-2023
14-Jul-2023
14-Jul-2023
13-Jul-2023 11:33

2023 SwiHz| stMA|=A=RtE A2¢..> 12-Jul-2023 08:38 6M

OF=0l= MI0[Z . pdf

050l == 2ZYAl 2V E Fl (akapo@naver.com)

13-Jul-2023 11:27

15:
14:
15:
14:
104
41

02
12

33
57
26
12

12M

B =2 B E B

7 directories 2

= o®

files



https://arduino.datahub.pe.kr/2023/src

A HELT=A SWH A F&

. oAy 7| Z 2R B4

Az 27 %

ANE B F8 =50 , LED, FND, =4
= , LED, 4X}2| 'FND, =X, 7t A
A ol o4 & pN" T Sy
2022 '
AN 7MOIHE e[t &8 HE,LED, FND, &4, Al2|lE &5
>
= E4 0|4 HE £X, FND, &= I A
X< T A& AAH BHST] HE,3M LED, AI2|E &=
il
=2 o8l == 24 =, FND, Al 2| & &=
2021
X 2o 33 =,3M LED, A, A2 &5
>

e LR A s HE, LED, ItA, & 02| &



ARHELESH SWHE 22
. Ofj VS22

X< "o & He, M M, Al2|E AEH
il
£ AZH OB A[Z80]44 1602LCD, HE, ¥ 12| &
2019
X =disE A Y HE T2 &A1 AlZFEX]
£
T FAO HI AL 2X}2] FND, Al 2| & &&=
X MALSH LT =F0) E LED, 2X}2| FND
-
i
T EAA HE, 1602 LCD, (A EH& 1) A A|
2018
X 7193 A s H £, LED, 7K, A|ZtS5, =
>

= FHAIE Al212 £ LED, FND, B, ¥ 12| &



QE GPIO T CixlE =
g 95 s 2z o

=

* GPIO : General Purpose Input Output
otgt21 F3(~) | SA

. Q& . QEO| XIZ7} O}E0|L QO 2 E0{R=

+ 9 0tF0l WFo XtE7F fIS2 L7t A
- CIXIE =9 : =9 40| o(LoW, 0V), 1(HIGH,

...................... 1 5V) O|E*7'|| 7|—X| M‘EHUP olt %ﬂ

..................... . |'I—I-E:I. XE:] . %EI al'g O% ~ 100% 77|‘X|
CHA 2 XAt Ol =gi

_I

A -
2= T ML =

ATMEGA 328P
Universal  {iiea MCU %!
Synchronous ' R - ST RCRCE e e e e
Asynchronou D R . ‘
Receiver

Transmitter

Ko rw

12




0 7-12V Depending
on current drawn

ATMEGA 82U/16U2 ICSP

(0caAj/ocac)/ e[ PB7 |1\ ~® o——FT)/ PB5 |[rcars]
[pcws || PB6 JET——e ——4#F]( PB4 J/rcoves ] T1 ]
=) [ PBL /et [SCLK]
158 3ncx -E-Ea'—‘ rEﬂX PB3 ]| PDO || pcovrs [ MISO)
VIN 2 ] 1mm [ H
)/ PB2 | PDI [ pcovr2 ||MOST]
AA in 48mA
r‘ecommen ed emA
®&bsglu1tg MAX 20emA
for entire package : ’ y ’ ;
(:)—@ PC5 JIADCS)|pcnt13/| SCL
provides a logic reference @—F%]/ PC4 | [ADEA) frcovr2)/ SDA | AR only A Power
voltage for sh1e§ds that use it. 71 AREE) . o\p
o—— Ny [ Jserial Pin
.—@--D [ Analog Pin
Cut to disable #11 .—’\;—Eﬂf PB_?f!oczA/fm//msﬂ T
o autoreset #10 [ @\ 15/ P82 /0CiB)/rcovrz [ SS ) B Physical Pin
< # "J\ri!illl"ll"lll
® O S [ JPort Pin
z u [[ %o 8 W @i PBa/CLKO) euvo]|TCPT] ‘ .
The input voltage to the board when < U':; [_JPin function
it is r”ﬁ'é’%" 5 rt?l.Ts e;gﬁfgpal power. € MZI] = EI:B Z @—+£EJPD7 /ATNI fpcrrrz) [ JInterrupt Pin
g @-/\~#H)( PD6 | AING) erir22[0CEA/ ~/-PuM Pin
2o 5 W @\ ~E/ PD5 || T1 rcvrzs)/OCEB) ® ® rort Pover (@)
2Z 4 W @—{E/ P04/ To | renras] XCK ] <
R #3 W @\~ PD3 J/INT1)/Pcvr2<]/OC2B]
28 a = 4 w2
[ SDA J[pcvr12/(ADCA)| PC4 %4 2 . o ™p1 0 Connected to the ATMega and used for
[SCL J/pcovr23/(ADES]| PC5 JEZ) < ﬁ _ z RX40 @_g-m USB program and communicating with it
Eﬂws?-
l,fﬁmrme’E-g—‘ -( pavrs |[MISO)
@) 2o ot mat exceed idoma

www.bg.com

17 JUL 2014

ver 3 rev @

GND

? ? *
| PB3 J/0C2A) rcavt3 [|MOST)




) 877/
AN
SN,

S
W N

\ «\\%\ \
v %
\ A

He= L=
S}

o|2 A 37t &Y
C)I-
=

E
=
=

Butto



4 £

. mA|HE SEET=CE= PRGN

These two legs are connected




1= 450 gt 20}

nitM @5 B | vig2 o Hal12 U2 1SS HEMOA) p209
HES 20 5o A0z7} AT 2w} o] A9y} G Hes) 2 s HEs ol
t} HEe] Al tX|d Fro = AT 4 9T, (1Y V-12)9} Zo] Zthe Ao Ol & =287
2 A2 1 WES r2d gAY gol HIGH A, 27 o’ txd glo]  FLIBHE Mocokid

00| o] e

....... 2~ INPUT ZE0f A
= o Sto[Qim| B A~
o HENZH & ER/IE
= 7{o| B2X| 23lC
/ — AI- L g s GND -I :l |_AOI_ |--
(HIGH, LOW &) ¢Eli= A HE SRS OFF0|=o| T2
defoz AL D, ZAHE HRE dX5t=
M HF = LEDE HHLY, (78 V-12] BCH2 NYOR R HE 812 74 paaseTee el 0| ofLet MY S
[ otzasHs AgIRIol 32

DHE =8l S dX|ot= AO|Lt.

\&*%OH 2O SkC}
\Tﬂ{%‘% =2 A7t dZE 2 A8sE B8 D22 gho] HIGH Arel7} Hat, HE

S £27) god A9 FojA T D22] AElE LOWZ} ek




H = 22 24

- HE 228 27 3’ /9 332 H= =25 o0 25)

-
H & H & H &
=xs M HIGH
M A= T LOW HIGH HIGH
HE A4 Vee — IN GND - IN GND - IN
XNetaT s SEQ st
IS PN GND : Vcc

S ECt2 Mg MCUME ME EAANE

pinMode INPUT INPUT_PULLUP INPUT




@ Active HIGH HHE A

=520 HIGH :
M A= LOW Hr
HE HZ Vee—IN [N . NG $4994
NegwT ded IR RN REPPR
2 2 LI I I I LI I

X &t x| GND ) tall 99993 M as0ss | a.

— — 5 :(D & & & & @2 & & & & 2 ::

o5 ZCi2 X E s sesommpeices |

JIEESSSS  SCHIENEE

pinMode INPUT <@ :::E:@ SESRE X

S sobs lossss |2

OISSSSENESES SN CX




A (®Active LOW)

.—'A-!

=]

4 £

@ Active LOW HE AH

S
o
|
(<))
2
=)
(8]
<
)

H £

LOW

ol
gl

HIGH

U= M

i

e

GND - IN

ol

=]l

Ok
ok

100

Vcc

uw o> Mmoo

BIGITAL (PWM=~)

—
Y
2
e~
=

AASBR IS R,

hhhhhh

11

-1

10

INPUT

pinMode




HE 2|2 24 (@Active LOW)

@ Active LOW HE AH

@ Active LOW
HE

=320
5 42 o
HE 12
NER e
SEEE

0%
't

pinMode

LOW
HIGH
GND = IN
SELe
MCUU & &N 2t

INPUT_PULLUP

=
=
-
=
P
=

(~=WMd)

C)

N

@ @ @& & & & & & & & & B B B BB

®

" 8 @
. @ @
* & @
* & @
. o 9
. 8 9
. 8 9
. 8 9
* & @
" 8 @
" @
. @ @
* & @
. 8 9
. 8 9
. 8 9
. 8 9
* % &
* @
- 8 @
. 8 @
* & @
. o 9
. 8 9
. 8 @
. 8 @
* & @
* & @
" @
. @ @




buttonAll.ino

#tdefine BTN1
#tdefine BTN2
#tdefine BTN3

void setup() {

}

Serial.begin(9600);
pinMode (BTN1, INPUT);

pinMode(BTN2, INPUT_PULLUP);

pinMode (BTN3, INPUT);

void loop() {

int bl = digitalRead(BTN1);
int b2 = digitalRead(BTN2);
int b3 = digitalRead(BTN3);

Serial.print(" bl: ");
Serial.print(bl);
Serial.print(" b2: ");
Serial.print(b2);
Serial.print(" b3: ");
Serial.println(b3);
delay(500);

3 // ACTIVE HIGH
7 // ACTIVE LOW(INPUT PULLUP)
12 // ACTIVE LOW
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AATLC

#tdefine BTN 12
##tdefine LED 13

void setup() {

}

void loop() {
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togglel.ino
#tdefine BTN 12
#tdefine LED 13
void setup() {
pinMode(LED, OUTPUT);
pinMode (BTN, INPUT_PULLUP);
}
void loop() {
static bool btn_pre = HIGH;
bool btn_now = digitalRead(BTN);
if(btn_pre == LOW && btn_now == HIGH) {
digitalWrite(LED, !digitalRead(LED));
}
btn_pre = btn_now;
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—1 :|_| E Ol 18
.EEE =] — T Eiﬂ
INPUT PULLUP HHE 9| AME{j =
(ojzxozs= )
P 51 X| Ok ALK
A= 3|.7(|
o=, ZLOI
Eolaf X
el «
oush release
HIGH(5V)
LOW(0V)

#tdefine BTN 12
#tdefine LED 13

void setup() {
Serial.begin(9600);
pinMode(LED, OUTPUT);
pinMode (BTN, INPUT _PULLUP);

}

void loop() {
static int n=0;
static bool btn pre =
bool btn_now =

true;

if(btn_pre LOW && btn_now
Serial.println(n++);
digitalWrite(LED,

}

btn_pre = btn_now;

toggle2.ino

digitalRead(BTN);

HIGH) {

ldigitalRead(LED));
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» Switch bounce 214t = Switch Bounce
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Button.h

= Button %—EHﬁ )\E‘|7:” class Button {

private:
int _pin;
int _interval;

- MHE 28 7ls

bool stabled; // QUPHEAENTE £ U =T
= A —_ ok - — )
- update() ll&2ES XHH2Z 2 F5HA] bool _changed; /] MENEEITE AU =T

|:|-|% JCKDFEH 7|:||'A| bool _preState, _curState;
bool _stableState; // &M HE (9HE)&E,
unsigned long _preTime, _curTime;

[
|
|l5lat:-le Inl‘.lF‘Jl"l.rEiIE public:

I

ul | Button() { }

Button(int mode, int pin, int interval) {
attach(mode, pin, interval);

}

void attach(int mode, int pin, int interval) {
_pin = pinj
pinMode(pin, mode);
_interval = interval;
_stableState = _preState = digitalRead(pin);
_preTime = millis();
_stabled = false;

I |
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[ jSlalfillllé interval

o

il

bool update() { // HE HEHEf ZOOIE(HSt A2
_curState = digitalRead(_pin);
_curTime = millis();

e
—+
)
C
(]
r
]

if(_preState != _curState) { SEfY 5
_stabled false; // B oLt s SO|E=E oHEHEH Ofd
_changed false; // Ot&l st otd
_preState = _curState; // HE &Ef ZHO[E
_preTime = _curTime; // A AlZF 9
return false;
}
else { // O[X} Xz AEHZF &20...
if(_curTime - _preTime >= _interval) { // QIEE AlZF O|& X|&E[1
if(_stableState != _curState) { // CHEHE(ZF MEA HFA2H,
_stableState = _curState; // X HEfE AHEHE = Y[=
_stabled = true; // CHESH S
_changed = true; // SEf HETL
_preState = _curState; // HE SEi YOolE
_preTime = _curTime; // S AlZE 2
return true;

}
}
// Ot&l QI AlZt Ol X[EE|X| LLQUALLE,
// HEEE T HEE A E OfL|H,
_stabled = false; // QFEAEN Ot
_changed = false; // OF%& Helr OfF
return false;




[ lslable interval )

o

}s

bool read() { // TEHEN HE af Btet
return _stableState;

}

bool rose() { // Z 2o EHE HoIF H4S0X FA=7t?
return (_changed && _stableState==HIGH)? true:false;
}

bool fell() { // =Z° HHE HetIt SHAOX] RA=7t?
return (_changed && _stableState==LOW)? true:false;
}

bool changed() {
return _changed;

}
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S SOIAl-oLZ 0| R

& Al ot/

edgeDetect.ino

e o,

—

=
+= et 2 HE 25 dX[ot= 2 oAl
#include "Button.h"

#define BTN _TOGGLER 8
#define BTN_COUNTER 12
#tdefine LED 13

Button btnToggler(INPUT_PULLUP, BTN_TOGGLER, 40);
Button btnCounter(INPUT_PULLUP, BTN_COUNTER, 40);
// INPUT PULLUP HHEO|EZE

// +=2H falling edge, H™ rising edge”’| ElLC}.

void setup() {
Serial.begin(9600);
pinMode(LED, OUTPUT);

void loop() {
btnToggler.update();
btnCounter.update();

if(btnToggler.rose()) { // =%CH 9 of &=
digitalWrite(LED, !digitalRead(LED));
}

static int n=0;
if(btnCounter.changed()) { // H3} =
++n; // W3 B4 28 E+1, HO{E+1
if(btnCounter.fell())
Serial.print("[fell] ");
else if(btnCounter.rose())
Serial.print("[rose] ");

if(n%2 == 0)
Serial.println(n/2);
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AATLE

MEF =] delay() 2 &

delay side effect.ino

##tdefine RED 8
#tdefine BTN 11
#tdefine LED 13

void setup() {
pinMode (RED, OUTPUT);
pinMode(LED, OUTPUT);
pinMode (BTN, INPUT_PULLUP);
// HE0| =2 Low
// HE0| EO{X|H HIGH

void revertlLed() {
digitalWrite(LED, !digitalRead(LED));

delay(2000);
// 2x2 St HS0| =H.

void loop() {

revertlLed();

digitalWrite(RED, !digitalRead(BTN));
}
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millis() &4

AN — e AlSH 74
= - millis1.ino "= 5%§ %;E-Ilf
void setup() { Output  Serial Monitor x
Serial.begin(9600); Message (Enter to send message to 'Arduino Uno’ on 'COM12| New Line
} 1000
2000
int preSec = 0; 3000
4000
) 2000
void loop() { 5000
unsigned long now = millis(); 7o
, _ BO00
int nowSec = now/1000; //ZHHRE HA a000
10000
if(preSec != nowSec) { 1;Eg
Serial.println(now); 13000
preSec = nowSec; 14000
} 15000
1R0O00
} 17000
18000
19000

20000

I T T ]
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millis()

. AARL

St

A
= I

millis2.ino

void setup() {
Serial.begin(9600);

}

int
int

preSec = 0;
loopCnt = ©;

void loop() {

unsigned long now =
int nowSec =

millis();
now/1000;

if(preSec != nowSec) {

}

Serial.print(now);
preSec = nowSec;

Serial.print(" ");
Serial.println(loopCnt);
loopCnt=0;

loopCnt++;

AlS
- 2

21t

Output

Message (En

1000 2600
2000 23560
3000 23833
4000 23735
b000 23333
BOOD 23735
FO00 23708
BOOD 253610
5000 23360
10000 25708
11000 25733
12000 2558E
13000 25733
14000 25583
13000 25603
16000 25453
17000 25854
18000 25733
13000 25706

20000 25609
A1 ACTT e T

Serial Monitor

ler 1o send message 10 Arauinog L

/1 20 loop()

O| Ak
=

\A

OI-AOI

SH2-71 250009
SEL|E

ALEF

M

lJ-\ll
U

n'COM12 New Line
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[T =8 H delay()

 millis) &4 0]8 2 A|ZHS EHI0] EHx

o| o

delay x.ino

#tdefine RED 8
#tdefine LED 13
##tdefine BTN 11

void setup() {
pinMode (RED, OUTPUT);
pinMode (LED, OUTPUT);
pinMode (BTN, INPUT PULLUP);

}

void loop() {

revertLED();

digitalWrite(RED, !digitalRead(BTN));
}

unsigned long preTime = 0;

void revertLED() {
unsigned long curTime = millis();
// curTime = S| AlZt

[/ (AA[ZE - OfHA[ZE >= 2X)
if(curTime - preTime >= 2000) { // 2= X|GtL|?

}

digitalWrite(LED, !digitalRead(LED));
preTime = curTime;

void revertLed() {
digitalWrite(LED, !digitalRead(LED));
delay(2000); // 2= &9 HSO| =.

}
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MillisTimer 222 A A

MillisTimer.h

#define MAX_TIMERS 10
typedef unsigned long ulong;
typedef void (*timer callback)(void);

_timers
typedef struct { 5
bool enabled;
timer _callback func; !
ulong interval; 2
ulong preTime; 3
} timer; 4
5
static inline ulong elapsed() { 6
return millis(); .
} 8
class MillisTimer { ?
private:
// O|&Of| run() & 471 A=l A7t
static ulong pre run_ms;
static ulong refresh ms;
static int _num_timers; // S5 EfO|H i

static timer _timers[MAX_TIMERS];

public:
static void add(timer_callback f,
ulong interval) {

_timers[_num_timers].enabled = true;
_timers[_num_timers].interval = interval;
_timers[ _num_timers].func = f;
_timers[ _num_timers].preTime = elapsed();
_num_timers++;

}

static void enable(int n) {
_timers[n].enabled = true;

static void disable(int n) {
_timers[n].enabled = false;

}

static void get refresh ms() {
return _refresh_ms;
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MillisTimer 22| A A A

// this function must be called inside loop()
static void run() {
ulong now ms = elapsed();
_refresh_ ms = now ms - _pre _run_ms;
_pre_run_ms = now_ms;

for(int i=0; i< _num_timers; i++) {
if(_timers[i].enabled) {
ulong diff = now ms - timers[i].preTime;
if(diff >= timers[i].interval) {
(*_timers[i].func)();
_timers[i].preTime +=timers[i].interval;
}
}
}
}
¥

static ulong MillisTimer:: pre_run_ms;
static ulong MillisTimer:: refresh _ms;
static int MillisTimer:: num_timers;
static timer MillisTimer:: timers[MAX_TIMERS];

MillisTimer A2 O A]

revert millis timer.ino

#tinclude "MillisTimer.h"

#tdefine RED 8
#tdefine BTN 11
#tdefine LED 13

void setup() {
pinMode (RED, OUTPUT);
pinMode (LED, OUTPUT);
pinMode (BTN, INPUT_PULLUP);
MillisTimer: :add(revertLed, 2000);

}

void revertLed() {
digitalWrite(LED, !digitalRead(LED));
}

void loop() {

MillisTimer::run();

digitalWrite(RED, !digitalRead(BTN));
}
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XFEO1 H | H A AlS
37|-X| _ll- H = E[E —9C>I = O|:-|I test_multitasking.ino
#include "MillisTimer.h" void printDigitalClock() {
#define RED 8 int h, m, s;
#define LED 13 s = millis() / 1000;
#define BTN 11 m=s / 60;
h =s / 3600; [MillisTimer &2
void setup() { S =5 -m* 60; 1) 0.5s0ICF 138 LED =2

pinMode(RED,
pinMode (LED,
pinMode (BTN,

OUTPUT);
OUTPUT);
INPUT_PULLUP);

MillisTimer:
MillisTimer:
MillisTimer:

}

:add(revertLed, 500);
:add(checkBtn, 1);
:add(printDigitalClock, 1000);

void revertLed() {
digitalWrite(LED,
}

ldigitalRead(LED));

void checkBtn() {
digitalWrite(RED,
}

IdigitalRead(BTN));

2) TmsOtCH HE =&l 20

m=m - h * 6@;
3) 1.0sOFC} C| K| EUK|71| =g

Serial.print(h);

printDigits(m);

printDigits(s);

Serial.println();
}

void printDigits(int digits) {
Serial.print(":");
if(digits < 10)
Serial.print('e');
Serial.print(digits);
}

void loop() {
MillisTimer:

}

:run();
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EFO|H RIHEE

- OFFO0|% Uno%t Megal| EtO|H 29F

millis() millis()

timerO Uno, Mega 8 micros() 5,6 micros() 13, 4
delay() delay()

. 12C

timerl Uno, Mega 16 9,10 12C 11,12
Servo

timer2 Uno, Mega 8 tone() 3,11 tone() 10, 9

timer3 Mega 16 5,2,3

timer4 Mega 16 6,7,8

timer5 Mega 16 Servo 44, 45, 46
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TCCRx - Timer/Counter Control Register. (EtO|H/ZF2E X 0f)

= The pre-scaler can be configured here.

= TCNTx - Timer/Counter Register. (EtO|MH/Zt-2E AX|Z}H)
= The actual timer value is stored here.

= OCRx - Output Compare Register (H| 11 g})

= |ICRx - Input Capture Register (only for 16bit timer)

= TIMSKx - Timer/Counter Interrupt Mask Register. (E}0|0{ QI EHE =43}

= To enable/disable timer interrupts.

« TIFRx - Timer/Counter Interrupt Flag Register. (/B ZE UM EE MFE)

= Indicates a pending timer interrupt.



OfF0|= 220 7[=

Prescaler A ™

ZF —
HA —

16Mhz

Table 17-6. Clock Select Bit Description
CSn2 CcsSni1 CSn0 Description
0 0 0 No clock source. (Timer/Counter stopped)
0 0 1 clk;o/1 (No prescaling
0 1 0 clk,o/8 (From prescaler)
______ o .. .1 ... Clko64(Fromprescaler) |
1 0 0 clk;o/256 (From prescaler)
""" 1 | o | 1 | clkg/1024 (Fromprescaler) |
1 1 0 External clock source on Tn pin. Clock on falling edge
1 1 1 External clock source on Tn pin. Clock on rising edge
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= TCCRn (Timer / Counter Contorl Register)

TCCRO - Timer/Counter Control Register

Bit

Read/Write
Initsal Value

Bit

ReadWrite
Initsal Value

Bit

Read/Write

Initial Value

Bit

Read/Write
Intial Value

1 0

cso1 | CsS00 | TCCRO

7 6 5 4 3 2 1 0
| icne ICES1 - WGM13 | WGM12 | CS12 cs11 csS10 | TCCR1B
RW RW R RW RW RW RW RW
0 0 0 0 0 0 0 0
TCCR1C - Timer/Counter1 Control Register C
7 6 5 “ 3 2 1 0
_ ) | W (Ve e
w w W R R R R R
0 0 0 0 0 0 0 0



s L. 1 D
Ut 2= 0 0 0 0 FFFF
0 1 0 1 FF
0 1 1 0 1FF
s PWM
- 0 1 1 1 3FF
1 1 1 0 ICRN
1 1 1 1 OCRnA
0 0 0 1 FF
0 0 1 0 1FF TOP-1 T|—|DP TOP-lJTC_)T_
oM D 0 0 1 1 3FF
1 0 1 0 ICRN
1 (o) 1 1 OCRNnA
TOP TOP
[SIPN .S (=S 1 0 0 0 ICRn TOP-1_[7_ TOP-1 [T
38 PW 4 4"y
(1= : 0 0 1 OCRnA
 —
ClICZ= | o 1 0 0 OCRNA
(Clear Timer ¢ | |
on Compare
Mode) 1 1 0 0 ICRn

CTC Mode 2}= H]
WAUX| OIHHEE
0|25t F=7|& 2
£ EY o4 Al

7ts

CTC Mode(Clear
Timer on Compare
Mode) = =8 F7|
OFCH TCNT(Timer
Counter Register) 2|
ZH0| 0B E| 14 =
7ot 1 40|
OCR(Output
Compare Register)
GEE
ICR(Inturrupt
Control Register) 2}
UX|5IHO02ZE =
7|2 = L.

2|1 CHAl SIHE
H} = 50}
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timerl interrupt.ino

void timerl setup() {
cli(); //stop interrupts
// set timer count for 2Hz increments
// F(FIo5 Hz) =1 / T(F71)
// (2Hz = @.5X0lC} 13| EEETF Th=c{™ Ofcf 2t &0| MEBHCt.)

TCCR1A = 9; // set entire TCCR1A register to ©

TCCR1B = 9; // set entire TCCR1B register to ©

TCNT1 = 0; //initialize counter value to 0;

// turn on CTC(Clear Timer on Compare Match) mode

. TCCR1B |= (1 << WGM12);

7/ // Set CS12 bit for 256 prescaler

74 TCCR1B |= (1 << C€S12);

> // enable timer compare interrupt

| TIMSK1 |= (1 << OCIE1A); // TIMSKx Timer/Counter Interrupt Mask Register.

// Ol =AE FAL2E st=Li0| Tt =5 7|71 Eetdlot,
// ALHEEH . 16Mhz (CPUS £ ) /Prescaler/R5te F7

// H7]0 M= Prescaler”?t 2560|2 ...

OCR1A = 31250; // 16MHz/256/2Hz = 31250

// Btk 1x0| 100 SEE[A StH™, 16Mhz/256/10Hz => 6250F X|FsIH =.
sei(); //allow interrupts
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EHO| QIE|HE AARE

timerl interrupt.ino

| // Of#l ISR &4E RS2 2 1x0| 2 SHEC.

~| // AX0] loop() 42 delay()RAl
\\i;ﬁ // timer compare interrupt service routine
| ISR(TIMER1_COMPA_vect) {

// ISR2 HE Sz X SSEEZE WEA 285HE & JEF Jtscret ZHE5HH &g SH040F SiCt,
// ISR WEOA delay &4 AE 22X
digitalWrite(LED BUILTIN, !digitalRead(LED BUILTIN));

void setup() {
pinMode (LED BUILTIN, OUTPUT);
timerl_setup();

}

void loop() {
// LED Ztol2 Efo|m{ QIE{ZEO| Ol O Zwrolct,
/] AZIM= ChE A & =
// AKX OO A2t Z0| delay()E ArEoH T EtO[H QIE{EHE AfH]
// XEet 7|0ttt Mol 2 = &EIC.
delay(1000);

| >

S EI[ISR(TIMER1_COMPA vect)]2
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IntTimer1 S2A (MillisTimer2| QEHE HH)

#define MAX_TIMERS 10
typedef unsigned long ulong;
typedef void (*timer callback)(void);
typedef struct {
bool enabled;
timer_callback func;
ulong interval;
ulong preTime;
} work;

class IntTimerl {
private:
volatile static ulong _now ms;
volatile static ulong _refresh_ms;
volatile static int _num_timers;
volatile static work _timers[MAX_TIMERS];
public:
static void add(timer_callback f, ulong interval)
_timers[_num_timers].enabled = true;
_timers[_num_timers].interval = interval,;
_timers[_num_timers].func = f;
_timers[_num_timers].preTime = _now_ms;
_num_timers++;

}

IntTimer1.h

static void start() {
cli(); //stop interrupts

TCCR1A = 0;

TCCR1B = 0;

//initialize counter value to 9;
TCNT1 = ©;

TCCR1B |= (1 << WGM12);

// Set prescaler to 64

TCCR1B |= ((1<<CS11)|(1<<CS10));

// 1=0| 200 (0.05X% OICtH) S ELTS
setRefreshRate(200);

// enable timer compare interrupt
TIMSK1 |= (1 << OCIE1A);

sei(); //allow interrupts

static void stop() {
TIMSK1 &= ~(1 << OCIE1A);

}
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IntTimer1 S2A (MillisTimer2| QEHE HH)

static void resume() {
TIMSK1 |= (1 << OCIE1A);

}

static void setRefreshRate(int hz) {
_refresh ms = 1000/hz;
OCR1A = 16000000UL/64/hz;

}

static void overflow() {
_nhow_ms += _refresh ms;
for(int i=0; i< _num_timers; i++) {
if(_timers[i].enabled) {
if(_now_ms - _timers[i].preTime >= _timers[i].interval) {
if(_timers[i].func != NULL) {

(*_timers[i].func)();
_timers[i].preTime += _timers[i].interval;




IntTimer1 S2A (MillisTimer2| QEHE HH)

static void enable(int n) {
_timers[n].enabled = true;

}

static void disable(int n) {
_timers[n].enabled = false;

}s

volatile static ulong IntTimerl:: now ms;

volatile static ulong IntTimerl:: refresh_ms;
volatile static int  IntTimerl:: num_timers;
volatile static work IntTimerl:: timers[MAX_TIMERS];

ISR(TIMER1_COMPA vect) {
// ISRZ HWE 22 X 2 SEHEE WEA 2|8HE & UAESF Jtseret 7HE5HAH A 5t of
// ISR LHSEO|M delay &4 AFE ZX|
IntTimerl::overflow();

}

o
il
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#include "IntTimerl.h" void printDigitalClock() { test multitasking.ino
#define RED 8 int h, m, s;
#define LED 13 s = millis() / 1000;
#define BTN 11 m=s / 60;
h =s/ 3600; [IntTimer1 E&
void setup() { s=s-m*66; 1) 0.5s0tCH 138 LED E2
pinMode (RED, OUTPUT); m=m-h*60; 2) 1msOtCH HE S8 29l
pinMode (LED, OUTPUT); serial.print(h); 3) 1.0sOfCH CIX|EA| A &8
pinMode (BTN, INPUT_PULLUP); printDigits(m);
Serial.begin(9600); e floop() EE]
} P ’ 4) 0.2 OCt 7}2E St =8

IntTimerl::add(revertLed, 500);
IntTimerl::add(checkBtn, 1);

. o void printDigits(int digits) {
IntTimerl::add(printDigitalClock, 1000);

Serial.print(":");

IntTimerl::start(); if(digits < 10) Serial.print('0');
} Serial.print(digits);
void revertLed() { /

digitalWrite(LED, !digitalRead(LED)); void loop() {
} //MillisTimer::run(); // 222

static int count=0;

void checkBtn() { Serial.println(count++);

digitalWrite(RED, !digitalRead(BTN)); delay(200); // loopOl delay()M T EfO|HI} HA A SE

} }
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= An active buzzer will generate = The passive buzzer does not

a tone using an internal have an internal oscillating
oscillator, so all that is needed source, and it has to be driven
Is a DC voltage. with square wave and different

frequency needed. It is like an
electromagnetic speaker, where
a changing input signal
produces the sound.
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tone(pin, freq [, duration])

= pin: FAL AO[AH7F HEE CIX[E & By

1 ~ 65535), 31ELCH AL

o] X|™HEl FO4(50 % SEH)Q| Ty}

E
I_
S TAAMICL K& AlZhks 82 + AL

2 X|™SIX| UAOM noTone()S 25 &
7L K| A= =ICt.

H2 Oo= £4 £ A0 EE5tY
== Mdg = UL

of StLtel & 9t MAd o &= QUL
tone) | O|':'| CrE oA X =OlH

tone() @ == OFF 2 1t7f SiLCE

Mega/ADK 0O[2|2| EEO|A tone() &
£ AI2%tH 38D} 119 ol pWwM EF
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tone.ino

233099 0 299931 14, #define LED 13
siiii iiiit il | #define BUZZER 8
[ii il |r: | void setup() {
SEPRERLLLR N pinMode (BUZZER, OUTPUT);
z SRS
" sas |2¢
3 EEEE: e :: | void loop() {
" tone(BUZZER, 440); // 440Hz A2|Lj1
2333 td | delay(500); /] 0.5%
- 39993 sas |2 noTone (BUZZER); // A8|111
33434 Eeddd M delay(500); /] 0.5%
o R R EE R M digitalWrite(LED, HIGH);

tone(BUZZER, 440, 500);
digitalWrite(LED, LOW);
delay(1000);
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Buzzer (9&5435/4) ,

(index) 0 1 2 3 dingdongl.ino
#include "Button.h" pitch 523 659 784 1046
length 250 250 250 500
g I

#define BUZZER 8
#define BTN_OK 7
#define BTN_NO 12

typedef struct {
int pitch;
int length;
} Note;
/] B&ES~ (EHlEE~)
Note noteOK[] = { {523,250}, {659,250},
{784,250}, {1046,500} };
/] G~ (Of~vmnn)
Note noteNO[] = { {659,1000} };

Button btnOK(INPUT_PULLUP, BTN_OK, 49);
Button btnNO(INPUT_PULLUP, BTN_NO, 49);

void setup() {
Serial.begin(9600);

}

void loop() {

btnOK.update();
btnNO.update();

if(btnOK.fell()) {
int n=sizeof(noteOK)/sizeof(Note); // 12 / 4
for(int i=0; i<n; i++) {
tone(BUZZER, noteOK[i].pitch, noteOK[i].length);
delay(noteOK[i].length);

}

}
if(btnNO.fell()) {

int n=sizeof(noteNO)/sizeof(Note); // 4 / 4
for(int i=0; i<n; i++) {
tone(BUZZER, noteNO[i].pitch, noteNO[i].length);
delay(noteNO[i].length);

[=AE]



https://arduino.datahub.pe.kr/2023/src/3.%20Buzzer/dingdong1.ino

MelodyPlayer S22 A A

MelodyPlayer.h

typedef struct {
int pitch;
int length;

} Note;

class MelodyPlayer {
private:
int _buzzer;
Note * notes;
bool enabled;
bool playing;
bool autoReplay;

int _noteCount;
int _noteIndex; // ®FoliOF & =H idx
int _notePitch; // =1 =%0|

unsigned long notelength; // =# Z0|
unsigned long preTime;

public:
MelodyPlayer() { }
MelodyPlayer(int pin) { init(pin); }

void init(int pin) {
pinMode(pin, OUTPUT);
_buzzer = pin;

_enabled = false;
_playing = false;
_notelLength =

_notelndex = 0;
_hoteCount = 9;
_autoReplay = false;

}

void setReplay(bool b) {
_autoReplay = b;
}

void setNote(Note *notes, int len) {
_hotes = notes;
_noteCount = len;
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if(!_enabled) { _playing = false; return; }

unsigned long curTime = millis();

// Ot S ® 4O|ttE A X3U2HW.
if(curTime - _preTime < _notelLength) return;
else noTone(_buzzer);

if(_noteIndex < _noteCount) {
_notePitch = notes[_notelndex].pitch;
_noteLength = notes[ _noteIndex].length;

if(_notePitch »>= 31) {
tone(_buzzer, _notePitch, _notelLength);

_playing = true;
_preTime = curTime;
}
_noteIndex++;

if(_noteIndex >= _noteCount) {
_notelndex = 0;
if(! _autoReplay) {
_enabled = false;
}
}

}
1

s

void startPlay() {
_enabled = true;
_noteIndex = 0O;
_preTime = 0;
play();

¥

void enable()
void disable()
bool enabled() { return _enabled;
bool isPlaying() { return _playing;

{ _enabled = true;

void play() {

}

{ _enabled = false; }

}
}




Buzzer (MelodyPlayer )

dingdong?2.ino

#include "Button.h"
#include "MelodyPlayer.h"

#define BUZZER 8
#define BTN OK 7
#define BTN_NO 12

/] d&YS~ (ZEHlEE~)

Note noteOK[] = { {523,250}, {659,250},
{784,250}, {1046,500} };

/] B~ (Bl~vmnn)

Note noteNO[] = { {659,1000} };

Button btnOK(INPUT_PULLUP, BTN _OK, 40);
Button btnNO(INPUT_PULLUP, BTN_NO, 40);

MelodyPlayer playerOK(BUZZER);
MelodyPlayer playerNO(BUZZER);

void setup() {
Serial.begin(9600);
playerOK.setNote(noteOK, 4);
playerNO.setNote(noteNO, 1);

void loop() {
btnOK.update();
btnNO.update();

if(btnOK.fell()) playerOK.start();
if(btnNO.fell()) playerNO.start();

playerOK.play();
playerNO.play();
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CNote.h

#include
#include
#include
#include

<stdlib.h>
<string.h>
<ctype.h>
<math.h>

class CNote {

private
char
char
char
int
bool
char
const

*_score_origin; // %E FAZE HAE

*_score; // U2 (Z80| stHAM 28 &)
*_score_head; /] AR A XFE

_tempo;

_auto_replay;
*_cnote; // current_note
char *_delimiter =" ";

int _note_octave;
int _note_pitch;
int _note_length;

public:
CNote();
void score(char *str);
void tempo(int t);
bool next();
char* note();
int  pitch();
int  length();
int  octave();
int  freq(char* note);
void replay(bool val);
s
CNote: :CNote() {
_auto_replay = true;
_tempo = 120;
_score_head = _score = NULL;
_note_pitch = 0;
_note_length = 0;
_note_octave = 0;
¥
void CNote::score(char *str) {
_score_origin = str;
if(_score_head != NULL)
free(_score_head);
_score = malloc(strlen(str)*sizeof(char));
strcpy(_score, str);
_scope_head = _score;
_cnote = NULL;
}

void CNote::tempo(int tempo) { _tempo = tempo;

bool CNote::next() {

if(_cnote == NULL) // M52 ZAF
_cnote = strtok(_score, _delimiter);
else
_cnote = strtok(NULL, _delimiter);

if(_cnote == NULL && _auto_replay == true) {
score(_score_origin);
return next();

}

if(_cnote != NULL)

_cnote = strupr(_cnote);
else

return false;

char* note = _cnote;

if(isdigit(note[0])) {
_note_octave = note[@]-'0";
if(! (@ <= _note_octave & & _note_octave <=9))
_note_octave = 0;
note++;

¥

else if(note[@]=="-") {
_note_octave--;
note++;

¥

else if(note[@]=="+") {
_note_octave++;
note++;

}

if(strlen(note) <= @) {
next();
return true;

}

_note_pitch = freq(note);
note += 2;

int len = atoi(note);
_note_length = 60.0/_tempo *(4000.0/len);

if(note[strlen(note)-1]==".")
_note_length = _note_length*1.5f;

return true;

}

int CNote::freq(char* note) {
int pitch = 0;

int nNote = -1;

switch(note[0]) {
case 'D': nNote = 3; break;
case 'R': nNote = 5; break;
case 'M': nNote = 7; break;
case 'F': nNote = 8; break;
case 'S': nNote = 10; break;
case 'L': nNote = 12; break;
case 'C': nNote = 14; break;

}

if(note[1] =='S")
nNote++;

else if(note[1] =='F")
nNote--;

if(nNote >= 0) {

float z = ((octave()-1)*12 + nNote)/12.0;
pitch = 27.5*%pow(2, z)+0.49;

}

else
pitch

0;

return pitch;

}

char* CNote::note() { return
int CNote::length() { return
int CNote::pitch() { return
int CNote::octave() { return
void CNote::replay(bool val)

_auto_replay = val;

}

// Programmed by akapo@naver.com(

// 2022.6.24.

/* S48

DO(T) RE(E) MI(Al) FA(I}) SO(Z) LA(ZF) CI(Al)
DS(T=4) RS(EISF) FS(UMA) SS(E) LS(EH)
SF(&E3) S

RF (2 E3)

HI[H oAl
3004 -> 3SEtE T4E=H
*/

// 27.5 = @ octave LA

_cnote;

}

_note_length; }

_note_pitch;

}

_note_octave; }

{

=13
=l

0
A
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MusicPlayer =

S 7

#tinclude "CNote.h"

class MusicPlayer {

private:
int _buzzer;
bool enabled;
bool playing;
bool verbose;
CNote _cnote;

unsigned long notelLength;
unsigned long _preTime;

public:

MusicPlayer() { }

MusicPlayer(int pin) {
init(pin);

}

MusicPlayer(int pin, char* score,
init(pin);
setScore(score);
setTempo(tempo);

}

int tempo) {

void init(int pin) {
pinMode(pin, OUTPUT);
_buzzer = pin;
_notelLength =
_verbose = false;

}

void setScore(char* score) {
_cnote.score(score);

}

void setTempo(int tempo) {
_cnote.tempo(tempo);

}

void setReplay(bool b) {
_cnote.replay(b);

}

void setVerbose(bool b) {
_verbose = b;

}




if(! enabled) { _playing = false; return; }
unsigned long curTime = millis();
if(curTime - _preTime < _notelLength) return;

else noTone(_buzzer);

if(_cnote.next()) {
int notePitch = _cnote.pitch();
_notelength = _cnote.length();

if(notePitch »= 31) {

tone(_buzzer, notePitch, _notelLength);
_playing = true;
_preTime = curTime;

}

if(_verbose && Serial) {
Serial.print(_cnote.note());
Serial.print(" ");
Serial.print(_cnote.pitch(), DEC);
Serial.print(" ");
Serial.println(_cnote.length(), DEC);

}s

void start() {

_enabled = true;

_preTime = 0;
play();
}

void setEnable(bool b) {

_enabled = b;
}
void enable()
void disable()
bool enabled()

{ _enabled = false;
{ _enabled = true;
{ return _enabled;

bool isPlaying() { return _playing;




MusicPlayer 2ciA S 0| &2 A=

#include "Button.h"
#include "MusicPlayer.h"

#tdefine BUZ 8
#tdefine BTN 12

// o WCh s

const char *AIRPLANE_SCORES =
"5 mi8. rel6 do8 re8 mi8 mi8 mi4 re8 re8 re4 mi8 mi8 mi4 mi8. \
relé do8 re8 mi8 mi8 mi4 re8 re8 mi8. rel6 do2";

// HIEH 2H5[9] &I}

const char *BEETHOVEN_SCORES =
"4 CI4 CI4 +DO4 RE4 RE4 DO4 -CI4 LA4 S04 S04 LA4 CI4 CI4. LA8 LA2 \
CI4 CI4 +D04 RE4 RE4 D04 -CI4 LA4 SO4 S04 LA4 CI4 LA4. S08 S02 \
LA4 LA4 CI4 SO4 LA4 CI8 +D08 -CI4 S04 LA4 CI8 +D08 -CI4 LA4 SO4 LA4 RE4 CI4 \
CI4 CI4 +D0O4 RE4 RE4 D04 -CI4 LA4 SO4 S04 LA4 CI4 LA4. S08 S02 \
LA4 LA4 CI4 SO4 LA4 CI8 +D08 -CI4 S04 LA4 CI8 +D08 -CI4 LA4 SO4 LA4 RE4 CI4 \
CI4 CI4 +D0O4 RE4 RE4 D04 -CI4 LA4 SO4 S04 LA4 CI4 LA4. S08 S02 zz2";

const char *BUBBLE_BUBBLE =
"5 CF8 LA8 SO8. FA1l6 LA8 SO8 FA8 MF8 S08 FA8 MF16 REl6 ZZ8 \
FA4. rel6 dol6e -cf8 +do8 re8 mf8 do8 rel6e mfle mf8 fa8 \
fa8 so8 1lal6 sol6 zz8 fa8 fa8 so8 1a8 cf8 1a8 so8. fal6é 1a8 so8 fa8 mf8 so8 \
fa8 mflée rel6 zz8 fa4. relé6 dolé -cf8 +do8 re8 mf8 do8 rel6 mfle mf8 fa8";

Button btnSwitch(INPUT_PULLUP, BTN, 40);
MusicPlayer bgmPlayer(BUZ);

void setup() {
Serial.begin(9600);

bgmPlay.ino

bgmPlayer.setScore(BEETHOVEN_SCORES);

bgmPlayer.setTempo(120);
bgmPlayer.setVerbose(true);
bgmPlayer.start();

void loop() {
btnSwitch.update();
if(btnSwitch.rose()) {

bool e = bgmPlayer.enabled();
bgmPlayer.setEnable(!e);

bgmPlayer.play();
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fndl num.ino

FNDO| ==X} =& 5}7|

DISP

N

// common cathode example
#define FND_A 2

#define FND_B

#define
#define
#define
#define
#define
#define

byte FND FONT[] = {
Ox3F, 0x06, Ox5B, Ox4F,
oxe6D, ©x7D, ©x07, Ox7F,

Ox66,
Ox67 };
bool dot = false;
void setup() {
for(int i=FND _A; i<=FND DP; i++)
pinMode(i, OUTPUT);

void outputFND(int num, bool dot) {
byte maskbit = B00©0000O1;
byte font = FND_FONT[num] | (dot<<7);

for(int i=FND_A; i<=FND_DP; i++) {
if((font & maskbit) != 0)
digitalWrite(i, HIGH);
else
digitalWrite(i, LOW);

maskbit = maskbit << 1;

void loop() {
for(int num=0; num<=9; num++) {
outputFND(num, dot);
delay(500);

}

dot = !dot;

(FONT)
(MASK)

ON/OFF

(FONT)
(MASK)

ON/OFF

(FONT)
(MASK)

ON/OFF

(FONT)
(MASK)

ON/OFF

(FONT)
(MASK)

ON/OFF

(FONT)
(MASK)

ON/OFF

(FONT)
(MASK)

ON/OFF

(FONT)
(MASK)

ON/OFF
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FNDO| =At&=At =2 5}7]

fndl num char.ino

#tdefine
#tdefine
#tdefine
#tdefine
#tdefine
#tdefine
#tdefine
#tdefine

unsigned
/] 9,
{0x3F,
/] A,
ox77,

/] K,
Ox7A,

// U,
Ox3E,

bool dot

void set

char FND_FONT[] =
1, 2, 3,
0x06, Ox5B, Ox4F,
BJ C) D)
Ox7C, ©0x39, Ox5E,
L, M, N,
0x38, 0x55, 0x54,

Vv, W, X,
OX7E, Ox6A, 0x36,
= false;

up() {

for(int i=FND_A; i<=FND_DP;

pinMode (i, OUTPUT);

i++)

void outputFND(int num, bool dot) {
byte maskbit = B0000000O1;
byte font = FND_FONT[num] | (dot<<7);

for(int i=FND_A; i<=FND_DP; i++) {
if((font & maskbit) != 0)
digitalWrite(i, HIGH);
else
digitalWrite(i, LOW);

maskbit = maskbit << 1;

}

void loop() {

for(int num=0; num<=9; num++) {
outputFND(num, dot);
delay(500);

}

for(int ch="'A'; ch<='Z"; ch++) {
int idx = ch-'A'+10;
outputFND(idx, dot);
delay(500);

}
dot = ldot;
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4-Digit FND
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// 4-digit FND for common cathode example
#define FND DO A@
#define FND_D1 Al
#define FND D2 A2

#define FND D3 A3

>

int FND_NUMBER; // ==& =TAf
int FND_PNTPOS=1; // &= "= %[*| 3210

void setup() {
int 1 = 0;
for(i=FND_A; i<=FND DP; i++)

pinMode (i, OUTPUT);
for(i=FND_D®@; i<=FND _D3; i++) {
pinMode (i, OUTPUT);

digitalWrite(i, HIGH); // ZE= FNDE

OFF

unsigned long preTime = 0;
void loop() {
unsigned long nowTime = millis()/10;
static int count = 0;
if(preTime != nowTime) {
count++;
preTime = nowTime;

}
outputNumber(count, FND_D2);

// outputFND()= O|& 1} L

fnd4 output cc.ino

void outputFND(int num, bool dot) {
byte maskbit = B000000O1;
byte font = FND_FONT[num] | (dot<<7);

for(int i=FND_A; i<=FND_DP; i++) {
if((maskbit & font) != 0)
digitalWrite(i, HIGH);
else
digitalWrite(i, LOW);

maskbit = maskbit << 1;

void outputNumber() {

int number = FND_NUMBER; D3
for(int p=FND_D@; p<=FND _D3; p++) {
int digit = number % 10;
outputFND(digit, p == FND_PNTPOS);
digitalWrite(p, LOW); // p® FND ON
delayMicroseconds (200); // ©.2ms
digitalWrite(p, HIGH); // p™ FND OFF

number = number /10;
if(number <= 0)
break;

D2

D1

Do
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74HC595 Shift Register

Functional diagram

o

DATA = 14 | DS
CLOCK = 11 | SHCP
= 8-STAGE SHIFT REGISTER
D e I
[ 1
LATCH =12 ISTCP | 4 BT STORAGE REGISTER
e ‘ T ‘l || —p— | m—— 1| — *"I—
[
13 |OE 3-STATE OUTPUTS
ao|a1|az2|a3|a4|as [as |a7
1501 12 |3 1a |5 |6 |7

The 74HC595 is an 8-bit serial-in / parallel-out shift register with
a storage register and 3-state outputs. Both the shift and storage
register have separate clocks. The device features a serial input
(DS) and a serial output (Q7S) to enable cascading and an
asynchronous reset MR input. A LOW on MR will reset the shift
register. Data is shifted on the LOW-to-HIGH transitions of the
SHCP(CLOCK) input. The data in the shift register is transferred
to the storage register on a LOW-to-HIGH transition of the STCP
input. If both clocks are connected together, the shift register will
always be one clock pulse ahead of the storage register. Data in
the storage register appears at the output whenever the output
enable input (OE) is LOW. A HIGH on OE causes the outputs to
assume a high-impedance OFF-state. Operation of the OE input
does not affect the state of the registers. Inputs include clamp
diodes. This enables the use of current limiting resistors to
interface inputs to voltages in excess of VCC.

data sheet: http://assets.nexperia.com/documents/data-sheet/74HC HCT595.pdf
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4-digit FND using 74HC595
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// 4digit FND using 74HC595 example
#define FND DO A@

#define FND D1 Al

#define FND D2 A2

#define FND D3 A3

#define CLOCK 10

#define LATCH 11

#define DATA 12

//#define COMMON_CATHODE

#ifdef COMMON_CATHODE

const int D ON = LOW, D OFF = HIGH;
#else

const int D_ ON = HIGH, D _OFF = LOW;
#endif

byte FND FONT[] = {©0x3F, 0x06, ©x5B, Ox4F, 0x66,
Ox6D, Ox7D, 0x07, OX7F, Ox67 };

unsigned long preTime = 0;

void setup() {

for(int p=FND _DO@; p<=FND D3; p++) {
pinMode(p, OUTPUT);
digitalWrite(p, D_OFF); //@

}

pinMode (CLOCK, OUTPUT);

pinMode (LATCH, OUTPUT);

pinMode (DATA, OUTPUT);

void outputFND(int num, bool dot) { fnd4 sreg cc.ino

byte font = (FND_FONT[num] | (dot<<7));

fnd4 sreg ca.ino

if(D_ON==HIGH) font = ~font;
digitalWrite(LATCH, LOW);

shiftOut(DATA, CLOCK, MSBFIRST, font);
digitalWrite(LATCH, HIGH); // ==0f H&

// MSBFE 27|

void outputNumber(int number, int dotpos) {
for(int p=FND_D@; p<=FND_D3; p++) {
int digit = number % 10;
outputFND(digit, p == dotpos);

digitalWrite(p, D_ON); // p FND ON
delayMicroseconds (200); // 9.2ms
digitalWrite(p, D _OFF); // p FND OFF
number = number /10;
if(number <= 0)
break;
}
} L ] L ] L] L

void loop() {
unsigned long nowTime = millis()/10;
static int count = 0;

D2 D1 Do

if(preTime != nowTime) {
count++;
preTime = nowTime;

}

outputNumber(count, FND_D2);
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// Shift Register O|AFZA|

void outputFND(int num, bool dot) {
int maskbit = 0x01;
unsigned char font = FND_FONT[num] | (dot<<7);

for(int i=FND_A; i<=FND_DP; i++) {
if((maskbit & font) != 0)
digitalWrite(i, HIGH);
else
digitalWrite(i, LOW);
maskbit = maskbit << 1;

void outputNumber(int number, int dotpos) {
for(int p=FND_D@; p<=FND D3; p++) {
int digit = number % 10;
outputFND(digit, p == dotpos);
digitalWrite(p, LOW); // p FND ON
delayMicroseconds(1000); // 1ms
digitalWrite(p, HIGH); // p FND OFF

number = number /10;
if(number <= 0)
break;

// Shift Register AFZA|

void outputFND(int num, bool dot) {
byte font = FND_FONT[num] | (dot<<7);
digitalWrite(LATCH, LOW);
// MSBFE{ CIO|E HO{E 7|
myShiftOut (DATA, CLOCK, MSBFIRST, font);
digitalWrite(LATCH, HIGH); // &0 HE&

void outputNumber(int number, int dotpos) {
for(int p=FND_D@; p<=FND D3; p++) {
int digit = number % 10;
outputFND(digit, p == dotpos);
digitalWrite(p, LOW); // p FND ON
delayMicroseconds(1000); // 1ms
digitalWrite(p, HIGH); // p FND OFF

number = number /10;
if(number <= 0)
break;




FND S22 24

#include <stdarg.h>
#include <ctype.h>

class FND {
private:

int _pinsLed[8];
int _pinsDx[4];
int _pinClock, _pinLatch, _pinData;
int _outNumber; // &= =Xt
char _outBuffer[10]; // =< W&
int _posPoint; /] 2aad A
int _numDigits; // AtE|
bool _enabled;
bool _shiftRegMode; // A ZEZXAEH AEHF
bool ON; // commonCathodO|® HIGHZE ATSIAIL.
bool OFF;
bool cmmON, cmmOFF;
static unsigned char FND_FONT[];

public:
FND(bool levelON = HIGH) {
_outNumber = 0;
_posPoint = -1; // -1: =&
_numDigits = 1; // A2l
_enabled = true;
setLevelON(levelON);

}

FND.h
void setLevelON(bool level) {
ON = level;
OFF = !ON;
cmmON = OFF, cmmOFF = ON;

}

void allocLedPins(int a, int b, int c, int d,
int e, int f, int g, int dp) {
pinsLed[@]=a, pinsLed[1]=b;
pinsLed[2]=c, pinsLed[3]=d;
pinsLed[4]=e, pinsLed[5]=f;
pinsLed[6]=g, pinsLed[7]=dp;

for(int i=0; i<8; i++) {
pinMode(pinsLed[i], OUTPUT);
digitalWrite(pinsLed[i], OFF);

}

shiftRegMode = false;

}

void allocRegisterPins(int clock, int latch, int data) {
pinMode(clock, OUTPUT);
pinMode(latch, OUTPUT);
pinMode(data, OUTPUT);
pinClock = clock;
pinLatch = latch;
pinData = data;
shiftRegMode = true;
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FND 222 24 cont.

void allocDxPins(int cnt, ...) {
va_list ap;
va_start(ap, cnt);

for(int i=0; i<cnt; i++) {
pinsDx[1i] va_arg(ap, int);
pinMode (pinsDx[i], OUTPUT);
digitalWrite(pinsDx[i], cmmOFF); // <=
}
va_end(ap);
numDigits = cnt;

}

void outputLedPins(int num, bool dot) {
int maskbit = 1;
byte font = FND_FONT[num] | (dot<<7);

for(int i=0; i<8; i++) {
if((maskbit & font) != 0)
digitalWrite(pinsLed[i], ON);
else
digitalWrite(pinsLed[i], OFF);

maskbit = maskbit << 1;

void outputShiftRegPins(int num, bool dot=false)
byte font = FND_FONT[num] | (dot<<7);
if(ON == LOW) font = ~font;

digitalWrite(_pinLatch, LOW);
shiftOut(_pinData, _pinClock, MSBFIRST, font);
digitalWrite(_pinLatch, HIGH);

}

void outputFND(int num, bool dot=-1) {
if(! enabled) return;

if(_shiftRegMode)
outputShiftRegPins(num, dot);
else
outputLedPins(num, dot);

}

// pinDx[d] O MF7I 5225 4
void onDx(int d) {
digitalWrite(pinsDx[d], cmmON);

2

}

// pinDx[d] HO| MFI} S=2X GLEE HF
void offDx(int d) {
digitalWrite(pinsDx[d], cmmOFF);

2

}
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int getCharFontIndex(char c) {

int pos; void outputCharAt(int pos, char font idx, bool dot=false) {

if(isdigit(c)) for(int p=0; p<_numDigits; p++)
pos = ¢c - '@ digitalWrite(_pinsDx[p], cmmOFF); // p FND OFF
else if('A'<=c && c<='Z"' || 'a'<=c && c<="z")
pos = toupper(c) - A" + 10; if(_shiftRegMode)
else 1f(c == '-") utputshiftRegPins (font_idx, dot);
pos = 36; // OFO|LfA outputShiftRegPins(font_idx, dot);
else //EZE B0 RAE 2AE OfLH, else
pos = 37; // OX|2 Z8 2x} outputLedPins(font _idx, dot);
return pos;
} digitalWrite(_pinsDx[pos], cmmON); // d FND ON
}
void outputFND(char ch, bool dot=false) {
1f(1_enabled) return; //2REO| OixSt 4ZRE JHE QEZRE 4 B
. . void outputString(char* strOutput, int dotpos=-1) {
int font_idx = getCharFontIndex(ch); if(1_enabled) return;

if(_shiftRegMode)
outputShiftRegPins(font_ idx, dot);
else
outputLedPins(font_idx, dot);

int idx = strlen(strOutput)-1; //=AIZSl OFX[2h
for(int d=0; d<min(4, _numDigits); d++, idx--) {
if(idx < @) return;

}
outputFND(strOutput[idx], d==dotpos);
void outputNumber(int number, int pos=-1) { digitalWrite(_pinsDx[d], cmmON); // d FND ON
_outNumber = number; delayMicroseconds(200); // 0.2ms
itoa(number, _outBuffer, 10); digitalWrite(_pinsDx[d], cmmOFF); // d FND OFF
outputString(pos); }

} }
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void outputString(int dotpos=-1) {
outputString( _outBuffer, dotpos);

}

void enable() { _enabled = true; }
void disable() {
_enabled = false;
for(int d=0; d<min(4, numDigits); d++)
digitalWrite(_pinsDx[d], cmmOFF);

}
bool enabled() { return _enabled; }

}s

// Active HIGH € [ ZEEQ,

// FNDZt common annode QI Z<% Of2f O|O[E{E H|E NOTSIH AtES A.

unsigned char FND::FND_FONT[] =
// 0, 1, 2, 3, 4, 5, 6, 7, 8, 9,
{0x3F, 0x06, Ox5B, Ox4F, 0x66, Ox6D, ©x7D, 0x07, Ox7F, Ox67,
// A, B, C, D, E, F, G, H, I, J,
ox77, ©x7C, ©x39, Ox5E, 0x79, 0x71, ©x3D, 0x76, 0x30, Ox1E,
// K, L, M, N, 0, P, Q, R, S, T,
Ox7A, ©x38, 0x55, Ox54, ox5C, ©x73, ox67, Ox50, oxeD, 0x78,
// U, VvV, W, X, Y, Z, -, SH
Ox3E, Ox7E, Ox6A, 0x36, Ox6E, 0x49, 0x40, 0x00 };
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lib fnd4 fndl together.ino

#include "FND.h"
int preSec;

// 1Xt2| FNDE= 2,3,4,5,6,7,8,9H I AtE char str[] = "ABCD";

FND fnd1; void loop() {

// 4XI2| FND= Shift Register2t & .. int nowSec = millis()/1000;

// 10(CLOCK), 11(LATCH), 12(DATA), // FND10|&= X}&EH

// SSTHAL A0,A1,A2,A3EIO| HZA fnd1.outputNumber(nowSec%10, -1);
FND fnd4; // FND4O|= 2XEEH

fnd4.outputString(str);
void setup() {

Serial.begin(9600); if(preSec != nowSec) { // &7t Hi& wjorct
for(int 1=0; i<4; i++)
fndl.allocLedPins(2,3,4,5,6,7,8,9); str[i]++;

fndl.setLevelON(HIGH); // common cathod
preSec = nowSec;

fnd4.allocRegisterPins(10,11,12); if(str[0]=="X")
fnd4.allocDxPins(4,A0,A1,A2,A3); strcpy(str, "ABCD");
fnd4.setLevelON(LOW); // common anode }
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2018-DO-HS%20StopWatch.ino

#tinclude
#tinclude
#tinclude

#tdefine
#tdefine

"IntTimerl.h"
"Button.h"
"FND.h"

STUDY_NUM_MAX 10
BUZ 8

FND fnd4(HIGH); // common cathode

//FND fnd4(LOW); // common anode

// start/stop toggle button

Button btnToggle(INPUT PULLUP, 2, 40);
Button btnStore(INPUT_PULLUP, 3, 40);

unsigned long TIME;

int tmrIdTimeTick;

unsigned int studyTime[STUDY_NUM_MAX];
unsigned int studyNum = @; // &S5 A[ZF HZ
unsigned int studyTimeRank[STUDY_NUM_MAX];

A
T

void setup() {
Serial.begin(9600);

fnd4.allocDxPins(4,A0,A1,A2,A3);
fnd4.allocRegisterPins(10,11,12);
tmrIdTimeTick = IntTimerl::add(timeTick, 100);
IntTimerl::add(checkButton, 1);
IntTimerl::start();

void timeTick() { // ©.1= OfCf 2=
TIME++; /] Nt 57
Serial.println(TIME/10.0); // . ¢

void checkButton() {
btnToggle.update();
btnStore.update();
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2018 =Lz (1)

OF
=

A

void loop() {

fnd4.outputNumber(TIME, 1);

if(btnToggle.fell()) { // HEO|

if(IntTimerl::enabled(tmrIdTimeTick))

IntTimerl::disable(tmrIdTimeTick);
else

ol =

IntTimerl::enable(tmrIdTimeTick);

tone(BUZ, 880, 100);
delay(100);

tone(BUZ, 440, 100);
}

if(btnStore. fell()) {
// NZHOl HA U= M HSotE==..
if(!IntTlmerl..enabled(tmrIdTlmeTlck)) {

studyTime[studyNum] = TIME;
outputRank();

studyNum++;

if(studyNum >= STUDY_NUM_MAX)
studyNum = 0;

tone(BUZ, 440, 100);
delay(100);

tone(BUZ, 880, 100);

}

TIME = O;
}
}
}

void filloutRank() {

for(int i=@; i<STUDY_NUM MAX; i++)
studyTimeRank[i]=1;

for(int i=0; i<STUDY_NUM_MAX;
for(int j=©; Jj<STUDY_NUM_MAX;

studyTimeRank[i]++;
}

}

void outputRank() { // =% =5
filloutRank();

MM

for(int i=@; i<STUDY_NUM MAX; i++) {
Serial.print(i+1);
Serial.print(": ");

Serial.println(studyTime[i]/10.0);
}

Serial.println("HM 2

==}
ST =

22 st

// G 1350[2tal 7ty

i++) { // 19 &%

j++) // 2= i Iﬂ HOd
if(studyTime[i]<studyTime[j]) // j7F O &5 AlZH0|

// 1o &2

-
CERETE

Serial.print(studyTimeRank[studyNum]);

ARG ");

I

I:|
PO ™

LS
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2019-DO-HS%20PickGame.ino

#include "MillisTimer.h"
#include "Button.h"
#include "FND.h"

#include "MelodyPlayer.h"

#define BTN_C 2

#define BTN_R 3

#define BTN_P 7

#define BUZ 8

enum SRP { NOTYET=0, SCI=1, ROC=2, PAP=3 };
char *strSRP[]={" ", "Zt2","HI?I","2"};

Note noteWin[] = { {523,250}, {659,250},
{784,250} }; // &~ (E0O[=~)

Note noteLose[] = { {659,750} }; // "~ (Hf~~nn)
Note noteTick[] = { {440, 80} }; // L (OtFZ=
MelodyPlayer mPlayer(BUZ);

FND fnd4(LOW); // common anode mode

Button btnC(INPUT_PULLUP, BTN_C, 40); //7}<
Button btnR(INPUT_PULLUP, BTN_R, 40); //H}<
Button btnP(INPUT_PULLUP, BTN P, 40); //=

float TIME = O;
void tick() {
if((int)(TIME*10) % 10==0) // Hi 1=0FCF AlZE
Serial.println((int)TIME);

T
1

TIME += 0.1;

void setup() {
Serial.begin(9600);
randomSeed(analogRead(9));

fnd4.allocDxPins(4,A0,A1,A2,A3);
fnd4.allocRegisterPins(10,11,12);
MillisTimer::add(tick, 100);

}

char getCRPcode(SRP num) {
if(num == SCI) return 'C';
else if(num == ROC) return 'R';
else if(num == PAP) return 'P’';

else return ;
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2019 =ECH2| (B) =Y &7| A

void loop() { /] ARH AE S5 &2
TIME = 0.1; char str[]=" "
int computerPick = NOTYET,; str[@]=getCRPcode(computerPick);
int gamerPick = NOTYET; str[3]=getCRPcode(gamerPick);
bool isWin = false; // Scl3 =72 Serial.print("&| ");
int numMedal; Serial.print(strSRP[computerPick]);
Serial.print(" : L{| ");
// t2E &2 3.2.1. Serial.println(strSRP[gamerPick]);
while(TIME <= 3) { fnd4.enable();
MillisTimer::run();
int outNum = (int)(4-TIME)*1111; if(gamerPick==SCI && computerPick==PAP ||
fnd4.outputNumber (outNum); gamerPick==ROC && computerPick==SCI ||
} gamerPick==PAP && computerPick==R0OC)

isWin = true;
// HE =& Zi[HIRIE L7

fnd4.disable(); if(isWin) {
computerPick = random(3)+1; mPlayer.setNote(noteWin, 3);
while(TIME<=4 && gamerPick==NOTYET) { mPlayer.start();
MillisTimer::run(); }
btnC.update(); else {
btnR.update(); mPlayer.setNote(notelLose, 1);
btnP.update(); mPlayer.start();
}
if(btnC.fell()) gamerPick = SCI; while(TIME <= 5) {
if(btnR.fell()) gamerPick = ROC; MillisTimer::run();
if(btnP.fell()) gamerPick = PAP; fnd4.outputString(str, 2);
} mPlayer.play();

R



2019 =03 (&) =Yool &7| A

// HE 2EHA 55
if(isWin) numMedal = random(20)+1;

else return; // loop B

unsigned long startTime = millis();
int preOutNum=-1;
while(TIME <= 8) {
MillisTimer::run();
// HE &5 FEO et o|[F 28 A[ZH(0.1=EHS)
int outNum = (m11115() - startTime) / 100;
if(preOutNum!=outNum && outNum<numMedal) {
mPlayer.setNote(noteTick, 1);
mPlayer.start();
preOutNum = outNum;
}
fnd4.outputNumber(min(outNum, numMedal));
mPlayer.play();
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